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#LP: Prove that: Sin A - 2 Sin"A = Tan A ok \
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#LP:Ifsin O - cos 6 =0, then find the value of sin" 0 + cos 0.
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#LP:lftana + cota= 2, then tan a + cot ¢f°=m
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#LP:lfsecO+tan06=p,thentanfis
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# LP : Prove the identity : 1 -1 = 1 - 1
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#LP: lfcos®+sin6= .,/ 2cos 6, showthatcos0-sin6=/ 23in6
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#LP Ifx-gggce +qtan6 andy = p tan 6 +gsec6 thenprovethat
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# LP : Prove that: +sinA/1-sinA=secA+tanA
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#LP: If1+ Sin-6 = 3 Sin 6 Cos 6 then prove thatTan6=1orTan6=1_



#LP:IfSinA+Sin°A=Cos?A, prove that Cos®A - 4Cos?A +8Cos’A=4



# LP : Prove that:
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#LP: Provethat:1+sec6-tan8/1+secf+tan8=1-sin6 / cos B
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